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1)The area of the triangle:

51. 5 cm

Z
L 4 +a“ sqo - _5_‘3 590

. 2R
S Y= WHG %
s Perimeter = 51355.3

= 12,9 &
53. I
s g: 7~ X’
-y
Vg 35m\’\,15
Coo gy = A8 S
P
Kz 2,6 m

2)Classify the type of angle

L e prea= 5-’!-
"75::,»

Find the perimeter and area of each triangle. Round to the nearest hundredth.

52. 3 o

v p.s 12 cm
+ﬁﬂ\% z % D
T x.3.,27
Y =4312%12> 212.412
o Perimeter = 1243.22 41242 = 27,64 C
-hreq = &:?'&“'2: 19,22 Cm 2

Find the value of x

1.

=1%o

Mr. Moustafa Abdelaziz
1

X = 3600.- 1300 -bo

Yanyg= Tt'!’]s S Y= L9

Penme\-eg: A YLK +3.5= 8 Tm
Area = 228519 _ 3 555 02

2.

Ry

X 360—70,140 K
X = \Eo

W
¢ lvhu
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3.HK and IG are dlammetres of OL. Identify each arc as a major arc minor arc, or
semicircle. Then find its measure

3.mlH] = \go (Semiciicle) !

4mAl = 59 X2 =g Qﬁ
(o]

-

3)The relationship between opposite angles in the vertex

Find each measure.

17) m4 R 32_0

1

oy
/

(6x —
18) mz S | \ )

SiNCe , 6x=-2=1524y4

@:63 0 ?x_

MEE < 5C(6)+4 = 34

Mr. Moustafa Abdelaziz Al-Hosn Secondary School 10-G
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19) ms A
T2 R= 5 x A 5}’—3)0
- S5x
K =
200ms C 4y+7)° D
-3 =44+
5y -4Y =T7+3
‘d::.\o
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4)ldentify complementary angles

In the figure, BA and BC are opposite rays and BD bisects 2 ABF.

6. IfmZABF = 3x — 8 and mZABD = x + 14, find mZABD.

MLAZABE = 2 mZABD
3A-R = 2 (% +14)

ZX-P= 2 4+29
2C = 34

mLABD = 364m = 50
1. IfmZFBC = 2x + 25 and mZABF = 10x — 1, find mZDBF.
22+ 25 $102¢ -} = 1R
252 +2Y4 =180 = %
WS ABE = A0 l12) =1 = 129°
= m £ DA <29 EBydn
8. A lanscape architect is planning to add sidewalks around a fountain as shown below.
If BA and B¢ are oppoiste rays and BD bisects ZABF , find mzFBC.

I

13

Ha4lo 5 42410 y 62- 2 :]‘E’OQ
Hx 192 '-:\“300

x =\ o
=2 mZ FBC = 6U2)-3 = 6H 4x +10

5)The sum of the measures of the angles of a triangle is 180

Find the measures of the angles of each triangle. The sum "i‘ MCJ‘Q'SP

v

B = %"
17. The ratio of the measures of the three angles is 3:6:1. C,x = Vion

AR N
"iz—‘*__"" %Q 'I\
.

= Bg"
’ - \Qe _ o
migo Moxe=tos ¢ wéC= R xiog
18. The ratio of the measures of the three angles is 7:5:8.
A R C — R o
1542 |20 ‘“LA“%’(&”—'GG

mZLB =180 y5=46

” I}
Z0
R G g LR L
Mr. Moustafa Abdelaziz Al-Hosn Secondary School 10-G
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19. The ratio of the measures of the three angles is 10:8:6.
ALg.c T
o u8is 24
¥ 130 - 24 = P
m < A= o x1S =75

m 2 B = % X T S = 60"'3
20. The ratio of the measures of the three angles is 5:4:7.

6)Solve problems involving the circumference of a circle.

Find the circumference of each circle described. Round the nearest hundreds.

1) Radius =2.5cm 2) diameter= 16 meters.
C = Lo ik i .= 7TOI
= 2 (25) = mlé) =g
=5F R e
¥ V5.7 Cw-

7)Measure the exterior angle of a triangle

Find the measure of each angle indicated.

D

0
6%~ 230472 2

2 = 1Y
b ‘_-'l’l. o
1)) LHRO - B+ 6(!2)-:.‘80

[ o
Mr. Moustafa Abdelaziz Al-Hosn Secondary School ™ L0 = %‘3 2 30 10.6
4 = 20
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8)Use the Pythagorean Theorem

¢
1

Find x

!

f A

X

=

8

2K = "{ 62-+8?. =\o

i 9. Eiman is making a banner out of 4 congruent triangles as shown below.
How much blue trim will she nee for each side?

x’ o= ,Slo°'+tu°’
= 2 m
~N ALl Corg
9)Solve the proportion
Solve each equation
3x __ 6 7 x—
1)? X 2) 3_ 6
K. 326 = HF 3(76—&!)-=7f.5)
3%, =48 B% = HE
X =16 S = G4
X ¥ Jic =%y %= \3
x+9 Bo=l 3 _3x
3) 2 8 )Zx 8
X +T2 = 6% =7, TG A s B’
220 =y Gt v Y
X = 37 = B
x =5t =% 2
Mr. Moustafa Abdelaziz Al-Hosn Secondary School 10-G

5




e T T T .

10)Simplify radical expressions

Simplify

DVITZ = 4 T )5 = \i) 3)VI5-20 =\o-3
DR B colT 5 B - 3 L B L
) 3V T ) {80 q )6—3J§ . 3

11)Solve problems involving the circumference of a circle.

Find the diameter and radius of a circle with the given circumference. Round to the
nearest hundredth.

24) C=18cm 25)C=124 cm
- gh o =24 _

. d= = = LT
=12~ 573 Y'= 39.47 -2 =185

- = 571342 =2.865

26) C=375.3cm 27) C=2608.25 cm

12)Identify central angles, major arcs, minor arcs, and semicircles, and find their measures.

Find the value of x

6

@ 14.
: 150° L
¥ &
125° ; °
X S _%So l X | s
o 9 o ) 35 .\_ % C‘;_ 3 6 [}
> =360 -125-1535 X=36-13& 83 325
= Qo = 95" 325 35°
Mr. Moustafa Abdelaziz Al-Hosn Secondary School -x' -7 o 10-G




\35
T\Hg
2 0
36
~1%0

Qo

W = do =2
X~ yo
13)Recognize and use relationships between arcs and chords.

Find the value of x

10. 4 1.
143° v -l
P11 3IX+5z226 ”
=26-3 Q
w 22\ =143 sx =2 r__
‘ e i
2 -
X =
2 =T% 7
12 85° ® oc=op
c . (3x + 54)° J
85° ’
A
A 5’(0@ ‘
S5Z-1 =4z +3 L
X =4 PX+54 -5y
= AN
14. @P'E@Q "__i" '-—?:—

155°

T
e O\ o St
R g

v 75— 44

'2-“-‘*50 u
TR~ % gy

HX = 4

X =
Mr. Moustafa Abdelaziz Al-Hosn Secondary School _ 10-G
7
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14)Find measures of inscribed angles

—_— o
mbH = 2 X g\ = \62 ‘ ‘ .

H msP = i"lg’:?. msK = 92+ 2 =46

120 '."-?-o K
P
N

'F 100° L

0 ' / 92°
\Ho" Q

Find each value

D
>
-]
y
M~
>
o
-~

23) x= 30

248msT = 2(8) K.

25)x = \2.75 52;1 ;fﬁ;c’: VAN
26) m2C = 5(12.75) - 2 !
= 515" ¢
R
27)mAT= \Q,oo _q5° .._Igg° 4XT
28)ymsZ = 2(?;5)+3o L e i ) W 15 . l
-~ Qo €% =1Bo 36 Z

G'?L ':-lgd.
X =125°

29) mzH = 2(53) =104

30) msG =HL3~5) =1 e e ’

I~ 1[0 =2\

(]
= 93 X =159
X =
"J = 190 ~ 9+l
Mr. Moustafa Abdelaziz Al-Hosn Secondary School 13—:’ 182 10-G
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16)Use properties of tangents

Find x. Assume that segments that appear to be tangent are tangent.
Round to the nearest tenth if necessary.

e e T TP S ————

Q..
\ 19. B_12 ¢
NS
24| \*
P -4
10 N » 3
i ’ XK +\2E = (X+6)
\o e A . ZZ.+ IHH = ’76?‘-')' 121*36
676 = % WY = |29¢+35
x = 26 \q,x. 109
Loe’ G
21. 5x—9__ G 22. F <
. S
7 He 2x ‘
= E 2 e T
e A
H D 6x — 4 2 +20= (X+12)>
DX -9 =] -4 2% ?f—1+‘100 =¥1+2Hx+l‘1
HC =T 49 6x-22 =4 400~ 2yx +14Y
Hot = 1E Ax = Y
- s 18 M x ~ Hoo -1HY
= Y 2H? ~ 2606
x =lo. ]

'~ A U %05 LYoy, 0
’-‘-\{ (2 —e)i; (2 -0)2 = ﬁ
‘;‘C.L..\. }jm':: 1"’2'
%z-l- dl::
Mr. Moustafa Abdelaziz
9

17)Write the equation of each circle.

1) center at (9 0), radius 5 2) center at (3, 1), diameter 14
e -k Y- -k 5 K- 3)"*(3-1) - @\7_']
=Dy =26 L~ 3)+t:j-1)-.t13

3)center at origin through(2, 2) 4) center at(-5,3), passes through(1, -4)

Oy -5-007 4 (3w
(X~ H) -r(‘j-—l()-—- et
(_'X-]-t;) "'(‘ﬂ"Z)*:.

= g5

Al-Hosn Secondary School 10-G
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Write the equatlon of each 01rcle &
e \\) + (Y- k)= (Y

9. Y

111 W=2
/TN

/
L [(2,1)] )'I
0\._/1 ]_"'

HER

(X - 2-)~+L‘;]-—\)
(2%a 1)+k~5 ‘s)—q

18)Use similar triangles to solve problems

Determine whether the triangles are similar. If so, write a similarity statement. Explain your

reasoning.

1. X v
E : ]
y

Vw /! 3x
N ZVvwAauANZYX

=

(5. ooe yar Sewilem

Mr. Moustafa Abdelaziz
10
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T
i

= |
[ [
= 1
-

| | 1 4

1 1 —
| | |
1 1
| | |
* =
| | =
\—.——l/

e U=l(3-0) "+ uqb)

¥ salin
i 3 L
@ Q')C-——?o) +k‘i+'~l)—_\3

o2 €2 =9
A D 10 E
A\%
.
AS .. F
* 2@
B = B -:-@ DABC~ ATFDE
O LA
s “F S
S
20 10 4f ig
K 15 L R 6 Q
© aS—R- b *I—-l—‘ e -2-—
_JL - lo )
KL \S 5
S . B o=t
:]'}‘4 20 =

Two 'ﬁs ewe e
= ASRE ~ NTLK

10-G
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enough to prove that AADC ~ABEC? A
A) <£DAC and £ECB are congruent.
B) AC and BC are congruent.
© AD and EB are parallel.
D) <«CBE is aright angle. @
Identify the similar triangles. Find each measure. Vv ®
6. 7. V.S;J
K
4 DR R
/ 51°|x 5 \l\
3 \
! v T 12 3
X
AHZSNA'JKLHW ASTR~ASVG
P S o 15 » 2 -3
7 S _5_(;“12- - 20

19)Use the Triangle Bisector Theorem.

Find the value of each variable.

Ti5
156 -27b
=166
vl =154

15h -
5hb +27b

"

b= 13

Mr. Moustafa Abdelaziz
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B

13. 20 = bbo -2u4q | 14. \
20 el*\ % HHA = Gbe /
s
T
e 75— Q=215
a _zls-a
2u 2.0 55:5 - X
UX = 4{Y
20)Identify similarity transformations . =1\

Determine whether the dilation from A to B is an enlargement or a reduction.
Then find the scale factor of the dilation.

6. [ [T TIALT]TT RSN
N sERRmmumun SN
/ AN Enlamemeat — Kedackion
’ o~ x
EErECD e SI<CBTA
8-> I~
Scale ch,‘:-of = -33— = Scale ;"‘C"LW =~ '?'—q' = -*ki
B. | : y 9- _ J} R S O t;_ —
| [l o Vo Tz o< (001 10 Y O
/ B// Reduction 2
! ] 5
ATy -
v/l
Al
- N Ff\\Ol’f‘:a“Em%‘\‘
ScCale thc,‘m' = e A -
SCale §acter = ~2-=2
- L
3
Mr. Moustafa Abdelaziz Al-Hosn Secondary School 10-G
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21)Find the geometric mean between two numbers.

Find the geometric mean between two numbers

Find X, y, and z
8) 81 and 4 9)25 and 16 10) 20 and 25
G“M — J%“{H =\% G—H - iz::',’“g GM‘-’-4QD¥7-§
= 20 =\o{54 22,4
11) 36 and 24 12) 12 and 2.4 13) 18 and 1.5
G-M :J?szu (=M -,-_..Ilzxz.H CoM = '\ 1§ =32
i ra L Vi3 o B = >

22)Solve problems involving relationships betwéen the parts of a right-angled
triangle and the height created by its hypotenuse

o 20. z
i o2 ={(4-6)y
_ T2 g6 "
9 4 b 6 = 5\ | 4
ox:quaf_é ,‘ﬂ‘:.\i‘iXG = {2y
- il %H.?
e Y= J9x3 =33 * = e R OB e i
o2 = v4v3 =24 63‘36;;%2%9 o °>=3{m
= «E =l = 25
@ X = J¢y =i
= |18
21. 5 22. 23. X
x
Y
2 Z
ot 12
10 20 :
.Z ) .5-@4
& 12 = 32
e 20-'*‘..10(2.) .,{"....l
e 5 "-‘-‘-,I (lu) \oX =~ Hpo %;‘%___FH;Z
A2 LR X zY4o
® KN =

- e R
= {Lg ) muT| " Wxdeta=lols |, L ey -

Z o= .,45 1o
Mr. Moustafa Abdelaziz Al-Hosn Se n{'njcg'gr‘5 School E 10-G
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6. 1 7-MP 8 x .

eest) (X~2) = 2 (X=7)

X %3 Uis) N
o (6) = 5U2) 62 =30 -x,?'.,.g_x_.g - K -9%
622;:.6-0 N+ 5 2 ~-B ==-92
p 4 WY ”X'-"g%
KT—-TT-
= 10. C Q\L
4 B 1 Kﬂ;x
ABD ’
N\ J
N

Q(_J,-‘;)fo-m,) = (X 4+)o) H H+3) =2 (3+2)

22eq 2 414 = 2 4lo X HU2) - g4 3 X
4 +1H =loX H%'Of".'-?x
Mo X
" s
24)Write and solve proportions ‘5\3 -1

29) According to a recent study, 7 out every 500 people aged 13 to 17 years are
vegetarian. In a group of 350 13- to 17- year- old’s, about how many would you
expect to be vegetarian?

. TR
Hoo 350
7 (35e)
X = —-—-g;';"' = Hd4 5

30) your family is traveling to Mexico on vacation. You have saved AED500 to use for
spending money. If 269 Mexican pesos is equivalent to AED91.80, how many pesos

will you get when you exchange your AED 5007 AED PEesSes
91. %o 269
- 500(26q> . % =) X
x - al, Ro H‘IH65 ?e&us
Mr. Moustafa Abdelaziz Al-Hosn Secondary School 10-G
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2x43 6

=
2 2’-—\- 3)(x~1) = \8
‘2-’1-2'1- -3 -~ \8 =o

31)

40 - 10
n ,
Vo2 + Yo +HO oYX+ 3o
\oX 4+ Ho = Ba =0
\07‘5-9--"[0:0
2
X =

H
o= TR

9x+6 _ 20x+4

33) 18 2y

?—‘l%:_"-rlzx-: %66 5. 12

21X"x\8 % ~360x ~ 72 =0

2—?>¢"‘—341y_ 72 =0
--'Sﬂ){- =0

the rectangle.

bt =D

llb

=1

0 L;-::.

meters. Find the length of the shortest side.

Mr. Moustafa Abdelaziz
15

Solve each proportion. Round to the nearest tenth.

— Mcae @
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k.2 $2.9

34) the perimeter of a rectangle is 98 feet. The ratios of its,width is 5:2. Find the area of

iho lemqth Yo width s 1,2

T
52 '1 Afea~ 35x 1y
L»-t-bd - 9QR+2 = 49 :qu.f_{:?-
¢ k= —.,CLH X5 =735
oW o= x2 =\H o W= H9-156 =14
35) the perimeter of a rectangle is 220 inches. The ratios of its length to its width is 7: 3.
Find the area of the rectangle. L. YW
ol R o Ruea ~ 77 133
Q_P ““o = L"I‘N ".‘.-“0 ':?-5‘““ -\“Q-

11X A= [ W= =23
36) the ratio of the measure of the side lengths of a quadrilateral is 2:3:5:4. Its perimeter is 154

10-G
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1]

the angles of the quadrilateral.

AvB:C.D |- mZA =2y

BaHIELS \\5 mLPO:H(Q‘U

* 360 - oy m £ C = 6(2y)
15

m 4D = 3(24)

25) Use trigonometric ratios to find angle measures in right triangles

A A B BB A R P O A B A P B A B B A S P I I O

37) the ratio of the measures of the angles of a quadrilateral is 2:4:6:3. Find the measures of

— g

Find the perimeter and area of each triangle. Round to the nearest hundredth.

—\-Qﬁ59d:: 5
51_ 5cm -'_72-
5 7 Xowx 3 . d 18°
1 Q?C’
Y™ 5-_.‘ 3452, 5.9 AN 12 em
o_
P= 54134522138 Yan s 45
ol _ 1,5 Cwt g il
2 M=
P:\?‘+%‘Ql +]12, 42 =27.6Y4 Cw
53, | _ ALY TL - 19,
X e A= - =1
i 48°
WIS 35m T8
-]
¢ . A8
« CosS 4g o
KKT=4
[+]
Yan U = T§~T'5 Sl se Ahuas
, - oy . b
5;;;\.‘1 LY b\ RV-TN | SN
. i 2 B BB g By 5 o Y i
i th
S ?'5;‘9 = 2,325 W

Mr. Moustafa Abdelaziz
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